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(1): 20000 0 21000
Tg—0<T<-—T+0=1T0—0<x<T0+0

(2): 31000 OO0
(.T0+h)2—.1’g = 2h$0+h2 = 2h(£€0 +ﬁ) — (.T0+h)2—.1’g = 2h$0+h2 = 2h($€0+ %h)

(3): 000
h|<100000000... = |hl<200000000....

(4): 44000 0 310000
00000000000 = 000000000000

(5): 65000 900
(cosx) =sinax = (cosz) = —sinx

(6): 6000000000900
(x — 20) = (¥ — %o)

(7): 4000 700 O 1000
(%f(ifo’yo)’éf(ﬂfoayo)) — (%f(x07y0)7%f(x07y0))

(8): 105000 0000 DO
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(9): 110000 000 600

e’ cos y} = e”(cosm — cos0) = [— e’ cosy} = —e”(cosm — cos 0)
0 0

(10): 110000 000 700
e’((=1) —1) = =2e” = —e”((=1) — 1) =2¢”

(11): 110000 DODOOODO 20000100

m m

(e — 1)[@}0 — (e — 1)[—6083/}0

(e-D=l=1)==2€-1 = (e-D(=(=1) = (=1)) =2(e = 1)

(12): 123000 0700

o rd/2 oo p/2
0 0 0 0

(13): 153000 002000

N > 0000 = N> —
clog?2 log 2

log e
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